
 
Exercisesheet 5

a f X3 R2 2X 8 L L where x is a roofof f
Compute themaximalorderusingtheround 2 algorithm

Let6 2223 2 S1 a a23betheequationorder

do 2 503

Onlyneedto consider p 2

Computethe p radical
Choon k sud ka ph z n dim L Have p 2 n 3

Can choose k 2
Compute yi GpG 646 Xm x4
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So nature of ie is

A too 9 Crow term

Kernel is f fo I 1 so try I IZ

Hence fadp6 6 I 2 X t I E f 2,22 222 L t I



Write this as mature

Zog Eg
Crowberry
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i
m Basisof redPG is 92 at L2 2 4
Now themultiplier Hambasis 1,4222of G and E2 ath 222 of
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fo
Multiplicationby2 on basis of 6

Az Coo

Multiplicationby xtx on G
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Next round
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To compute radz6 need to consider
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Need toexpress x2 In basis of 6 To thisend express in stdSssis

of L and changebackbasis
Base change from G to stdSasi is

II E A L
so 24 in Std basis is 8 t 10x t 3 2

Get this is basisof G by
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24 in std basis is Ex f I
ComputeC EL t 2244 E 522 it 36
Get this in basis of G by
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so matrixof ee is
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